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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

1 ljLorh fo|k eafnj m-ek-fo- unh}kj 
Xokfy;j

2 ljLorh fo|k eafnj m-ek-fo- xksj[kh 
Xokfy;j

3 ljLorh fo|k eafnj m-ek-fo- cknyx<+ 
Xokfy;j

4 ljLorh fo|k eafnj mPp ek-fo- fpVuhl 
dh xksB Xokfy;j 

5 ljLorh fo|k eafnj mPp ek-fo- dsnkjiqj 
¼e-iz- cksMZ½  Xokfy;j

6 ljLorh fo|k eafnj mPp ek-fo- fl)s'oj 
uxj Xokfy;j

7 ljLorh fo|k eafnj mPp ek-fo- Mcjk 
ftyk Xokfy;j

8 ljLorh fo|k eafnj mPp ek-fo- fn;knkg 
fHkrjokj ftyk Xokfy;j

;ksx

9 ljLorh fo|k eafnj m-ek-fo- bVkok jksM+ 
fHk.M

10 ljLorh fo|k eafnj m-ek-fo- ygkj ftyk 
fHk.M

11 ljLorh fo|k eafnj m-ek-fo- vkyeiqj 
ftyk fHk.M

12 ljLorh fo|k eafnj m-ek-fo- vM+ks[kj 
ftyk fHk.M

13 ljLorh fo|k eafnj mPp ek-fo- xksjeh 
ftyk fHk.M

14 ljLorh fo|k eafnj mPp ek-fo- vlokj 
ftyk fHk.M

mRrh.kZ 
izfr'kr

iwjd

foHkkx Xokfy;j

ljLorh fo|k izfr"Bku e/;izns'k Hkksiky

izk:i& 1

Ø- fo|ky; dk uke dqy Nk=
lfEefyr 
Nk=

mÙkh.kZ Nk= la[;k
izFke f}rh; r`rh; vuqÙkh.kZ

e/;izns'k gkbZ Ldwy ijh{kk ifj.kke l= 2016&17 

;ksx
¼11 ls 13½

ftyk & Xokfy;j 

ftyk & fHk.M
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15 ljLorh fo|k eafnj mPp ek-fo- ncksg 
ftyk fHk.M

;ksx

16 ljLorh fo|k eafnj m-ek-fo- f'k{kk uxj 
eqjSuk

17 ljLorh fo|k eafnj m-ek-fo- vEckg 
ftyk eqjSuk

18 ljLorh fo|k eafnj mPp ek-fo- tkSjk 
ftyk eqjSuk

19 ljLorh fo|k eafnj mPp ek-fo- lcyx<+ 
ftyk eqjSuk

;ksx

20 ljLorh fo|k eafnj m-ek-fo- Hkjrx<+ 
nfr;k 

21 ljLorh fo|k eafnj mPp ek-fo- 
cqUnsykuxj nfr;k

22 ljLorh fo|k eafnj mPp ek-fo- Hkk.Msj 
ftyk nfr;k

;ksx

ftyk'k% o`Ùk%& 
1 Xokfy;j

2 fHk.M

3 eqjSuk

4 nfr;k

egk;ksx

ftyk & eqjSuk

ftyk & nfr;k
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1 ljLorh fo|k eafnj m-ek-fo- fo|kihB 
f'koiqjh

2 ljLorh fo|k eafnj mPp ek-fo- vLirky 
pkSjkgk f'koiqjh

3 ljLorh fo|k eafnj mPp ek-fo- djsjk 
ftyk f'koiqjh

4 ljLorh fo|k eafnj mPp ek-fo- fiNksj 
ftyk f'koiqjh

;ksx

5 ljLorh fo|k eafnj m-ek-fo- ';ksiqj

;ksx

6 ljLorh fo|k eafnj m-ek-fo- v'kksd 
uxj

7 ljLorh fo|k eafnj m-ek-fo- pansjh ftyk 
v'kksd uxj

8 ljLorh fo|k eafnj mPp ek-fo- eqaxkoyh 
ftyk v'kksduxj

;ksx

ftyk'k% o`Ùk%& 

f'koiqjh

';ksiqjdyk

v'kksduxj 

egk;ksx

foHkkx & f'koiqjh

ftyk & f'koiqjh

ftyk & ';ksiqj

ftyk & v'kksd uxj
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1 ljLorh fo|k eafnj m-ek-fo- chukxat 
ftyk xquk

2 ljLorh fo|k eafnj m-ek-fo- e/kqlqnux<++ 
ftyk xquk

3 ljLorh fo|k eafnj mPp ek-fo- xkS'kkyk 
xquk

4 ljLorh fo|k eafnj mPp ek-fo- dsUV 
xquk

5 ljLorh fo|k eafnj mPp ek-fo- jk?kkSx<+ 
ftyk xquk

6 ljLorh fo|k eafnj mPp ek-fo- dqaHkjkt 
ftyk xquk 

7 ljLorh fo|k eafnj mPp ek-fo- pkpkSM+k 
ftyk xquk 

;ksx

8 ljLorh fo|k eafnj m-ek-fo- fMiks lhgksj

9 ljLorh fo|k eafnj m-ek-fo- e.Mh lhgksj

10 ljLorh fo|k eafnj m-ek-fo- vk"Vk ftyk 
lhgksj 

11 ljLorh fo|k eafnj m-ek-fo- tkoj ftyk 
lhgksj

12 ljLorh fo|k eafnj mPp ek-fo- bPNkoj 
ftyk lhgksj

;ksx

ftyk & xquk

ftyk & lhgksj

foHkkx& jktx<+
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13 ljLorh fo|k eafnj m-ek-fo- jktx<+ 

14 ljLorh fo|k eafnj m-ek-fo- C;kojk 
ftyk jktzxz<+

15 ljLorh fo|k eafnj m-ek-fo- lkjaxiqj 
ftyk jktx<+

16 ljLorh fo|k eafnj m-ek-fo- ipksj ftyk 
jktx<+ 

17 ljLorh fo|k eafnj m-ek-fo- NkihgsM+k 
ftyk jktx<+ 

18 ljLorh fo|k eafnj mPp ek-fo- lqBkfy;k 
ftyk jktx<+

19 ljLorh fo|k eafnj mPp ek-fo- 
ujflagx<+ ftyk jktx<+

20 ljLorh fo|k eafnj mPp ek-fo- bdysjk 
ftyk jktx<+

21 ljLorh fo|k eafnj mPp ek-fo- dqjkoj 
ftyk jktx<+

22 ljLorh fo|k eafnj mPp ek-fo- [kqtusj 
ftyk jktx<+

23 ljLorh fo|k eafnj mPp ek-fo- rysu] 
ftyk jktx<+

24 ljLorh fo|k eafnj mPp ek-fo- 
ekpyiqj] ftyk jktx<+

25 ljLorh fo|k eafnj mPp ek-fo- thjkiqj] 
ftyk jktx<+

26 ljLorh fo|k eafnj mPp ek-fo- 
f[kyphiqj] ftyk jktx<+

;ksx

ftyk'k% o`Ùk%& 

xquk

lhgksj

jktx<+

egk;ksx

ftyk & jktx<+
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1 ljLorh fo|k eafnj m-ek-fo- f'kokth 
uxj Hkksiky

2 ljLorh fo|k eafnj m-ek-fo- g"kZo/kZu 
uxj] Hkksiky

3 ljLorh fo|k eafnj m-ek-fo- dksVjk 
Hkksiky 

4 ljLorh fo|k eafnj m-ek-fo- v'kksdk 
xkMZu] Hkksiky 

5 ljLorh fo|k eafnj m-ek-fo- fiiykuh] 
Hkksiky

6 ljLorh fo|k eafnj m-ek-fo- nhun;ky 
dkyksuh] Hkksiky 

7 ljLorh fo|k eafnj m-ek-fo- 'kkjnk 
fogkj] Hkksiky 

8 ljLorh fo|k eafnj m-ek-fo- Hkkjrh 
fudsru] Hkksiky 

9 ljLorh fo|k eafnj m-ek-fo- cSjfl;k 
ftyk Hkksiky

10 ljLorh fo|k eafnj mPp ek-fo- ljLorh 
uxj Hkksiky

11 ljLorh fo|k eafnj mPp ek-fo- 
ckxeqxkfy;k] Hkksiky 

12 ljLorh fo|k eafnj mPp ek-fo- v;ks/;k 
uxj] Hkksiky

13 ljLorh fo|k eafnj mPp ek-fo- lsejk 
dyk] Hkksiky 

;ksx

14 ljLorh fo|k eafnj m-ek-fo- ds'ko uxj] 
fofn'kk

15 ljLorh fo|k eafnj m-ek-fo- ryS;k] 
fofn'kk

foHkkx & Hkksiky
ftyk & Hkksiky

ftyk & fofn'kk
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16 ljLorh fo|k eafnj m-ek-fo- xatcklkSnk 
ftyk fofn'kk

17 ljLorh fo|k eafnj m-ek-fo- fljksat 
ftyk fofn'kk

18 ljLorh fo|k eafnj m-ek-fo- yVsjh ftyk 
fofn'kk

19 ljLorh fo|k eafnj mPp ek-fo- 
vanjfdyk] fofn'kk

20 ljLorh fo|k eafnj mPp ek-fo- 
xka/khpkSd] xatcklkSnk ftyk fofn'kk

21 ljLorh fo|k eafnj mPp ek-fo- dqjokbZ 
ftyk fofn'kk

;ksx

22 ljLorh fo|k eafnj m-ek-fo- jkeyhyk 
uxj jk;lsu

23 ljLorh fo|k eafnj m-ek-fo- csxexat 
ftyk jk;lsu

24 ljLorh fo|k eafnj m-ek-fo- flyokuh 
ftyk jk;lsu

25 ljLorh fo|k eafnj m-ek-fo- cjsyh ftyk 
jk;lsu

26 ljLorh fo|k eafnj mPp ek-fo- 
xksikyiqj jk;lsu

27 ljLorh fo|k eafnj mPp ek-fo- 
lqyrkuiqj ftyk jk;lsu

;ksx

ftyk'k% o`Ùk%& 

Hkksiky

fofn'kk

jk;lsu

egk;ksx

ftyk & jk;lsu



91-

100%
76-90% 61-75% 51-60% 46-50% 33-45%

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

mRrh.kZ 
izfr'kr

iwjd

izk:i& 1

Ø- fo|ky; dk uke dqy Nk=
lfEefyr 
Nk=

mÙkh.kZ Nk= la[;k
izFke f}rh; r`rh; vuqÙkh.kZ

;ksx
¼11 ls 13½

1 ljLorh fo|k eafnj m-ek-fo- 
ekyoh;xat] bVkjlh ftyk gks'kaxkckn

2 ljLorh fo|k eafnj m-ek-fo- iqjkuh] 
bVkjlh ftyk gks'kaxkckn

3 ljLorh fo|k eafnj m-ek-fo- vk;Z uxj 
bVkjlh ftyk gks'kaxkckn

4 ljLorh fo|k eafnj m-ek-fo- lksgkxiqj 
ftyk gks'kaxkckn

5 ljLorh fo|k eafnj m-ek-fo- fiifj;k 
ftyk gks'kaxkckn

6 ljLorh fo|k eafnj m-ek-fo- ljLorh 
uxj xkMjokM+k jksM+ cu[ksM+h ftyk 
gks'kaxkckn7 ljLorh fo|k eafnj m-ek-fo- ds'ko uxj 
cu[ksM+h ftyk gks'kaxkckn

8 ljLorh fo|k eafnj m-ek-fo- xksfoUn 
uxj ftyk gks'kaxkckn

9 ljLorh fo|k eafnj mPp ek-fo- 
gks'kaxkckn

;ksx

10 ljLorh fo|k eafnj m-ek-fo- gjnk

11 ljLorh fo|k eafnj m-ek-fo- fVejuh 
ftyk gjnk

12 ljLorh fo|k eafnj mPp ek-fo- f[kjfd;k 
ftyk gjnk

foHkkx ueZnkiqje~

ftyk & gks'kaxkckn

ftyk & gjnk
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;ksx

13 ljLorh fo|k eafnj m-ek-fo- dkykikBk 
cSrwy

14 ljLorh fo|k eafnj m-ek-fo- xkM+k?kkV 
cSSrwy

15 ljLorh fo|k eafnj m-ek-fo- HkkjrHkkjrh 
cSrwy

16 ljLorh fo|k eafnj m-ek-fo- lkj.kh 
ftyk cSrwy

17 ljLorh fo|k eafnj mPp ek-fo- HkSlnsgh 
ftyk cSrwy

18 ljLorh fo|k eafnj mPp ek-fo- 
?kksM+kMksaxjh ftyk cSrwy

19 ljLorh fo|k eafnj mPp ek-fo- vkBusj 
ftyk cSrwy

;ksx

ftyk'k% o`Ùk%& 

1 gksa'kxkckn

2 gjnk

3 cSrwy

egk;ksx

ftyk & cSrwy


